log[(Y/AY) / (Y/AAY),)] HAULAB -Y-Kontrast
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[N

CilCu=(YIBY)(YIAY), normiert fir ( YIAY),
100C* =S(Y/Yp)'=d  (Yy=100,Y,=11,5=134,6, n=0,31, d=19,2)[
L*=r (Y/Y)"=d (r = s(Yy/Yy)"=79,10,L* = r-d =59,8) [1b)

Y_curve, ij=3, Yuij=11, L*uij=50

Eegg, YKij=400, L*kij= 1875 (YIAV)/(YIAY),= 194
i1=312, L*kij=172.2,(YIAV)/(YIAY),=1,0

k=1, Ykij=302, L*kij= 1703(Y/AY)/(Y/AY) 057

k=0, Ykij=301, L*kij= 1701(YIA\0/(Y/AY)H ==90,505
= -¢(,288
mp, =n=0,310 —190
L) $=120
my = 0,286 Law=40cd/h
] Anwendungs-
! bereich
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